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The figures in the margin indicate full marks.

Candidates are required to give their answers in their
own words as far as practicable.

Nustrate the answers wherever necessary.

Answer all questions.

1. The number of defective bolts in each of 500 packs

| contains 100 bolts are obtained

Number of |1 2 341516 8 | Total
defective bolts
Number of 5411601130} 92{37[22 | 4 1| 500
packs

10

Fit a Poisson distribution to the above data.

(Turn. Over)



%. Assume that the length of time between charges of a
cellular phone is normally distributed with a mean f
10 hours and a standard deviation of 1.5 hours. Find the
probability that the cell phone charge will last between
8 and 12 hours. Given that
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